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Show all work for the following problems.

1. How many moles of water are produced if 3.6 moles of hydrogen react with 3.6 moles of oxygen?
Limiting reactant:

2 How many moles of water are produced if 3.6 g of hydrogen react with 3.6 g of oxygen?
Limiting reactant:

3. How many grams of water are produced if 3.6 g of hydrogen react with 3.6 g of oxygen?
Limiting reactant:

- How many grams of water are produced if 3.6 g of sodium hydroxide react with 3.6 g of hydrochloric acid?
Limiting reactant:

S What is the molarity of sodium hydroxide if 3.6 g is dissolved in 200.0 mL of water?

6. What is the molarity of hydrochloric acid if 3.6 g is dissolved in 200.0 mL of water?

T What is the molarity of hydrochloric acid if it is diluted from 1 L of 12 M concentrated acid and you now have
15L?

8. What is the molarity of hydrochloric acid if 10 mL of it completely neutralizes with 45 mL of 2.0 M sodium

hydroxide?
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6. What is the molarity of hydrochloric acid if 3.6 g is dissolved in 200.0 mL of water?
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